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1 Assume that the rate of growth of a population of fruit flies is propotional to the size the

populatlon at each instant of time. If 200 fruit flies are present initially and 700 are present after
20'days, how many will be present after 30 days?
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o Sketch the curve represented by each of the followmg sets of parametric equatmns by eliminating
thé' parameter:

(a) z =sect;  y=tant b) z =1t +1, y=2t*~1
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3. Find the parametric equations for the set of all points P determined as shown in the diagram
using 0 as the parameter. The line AB is tangent to the large circle. The large circle has radius a
and the small circle has radius b. Your answer will involve a, b and the parameter 6.
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